15

% Technical Specifications
" 13 " 1. Design standard: UL262, FM1120, AWWA (509;
12 2. Rated pressure: 250Psi;
" :
3. Rated tempreture: 0.6°c to 52°c;
\. 10
9 , 4. Flange end conforms to BS EN1092-2.PN16;
8 16 5. Surface Painting:
7 Thickness: Greater than250Lcm,
6 Less than500Lem
— Color: RAL3016
—
w —
A 117
2
1 Ll_l_l FHIDN| L |t | D | E |n-od| F | h|H|H
2.5"[ 65 [190(17.5| #178 | @140 [4-919|#118 | 3 |182 296
I 3" |80 20319 | 9191 |¢152.5(4-819(8132 3 |212|326
~ 4 [101.6] 229 24 | 229 ($190.5)|8-919 [#156 [ 3 [246]360
6" [I52.4 267|25.4| 8279 |92415(8-923| @211 | 3 |330(4LT)
8" [ 203|292(28.6| #343 (¢298.5(8-923 6264 | 3 |410]527
10"| 254| 330|30.2| ®406 | $362 [12-926(9319 | 3 |500(605
_
12" 305( 356( 32 | 8483 | 432 [12-9626|9367 | 4 |590(700
\ LI . i . . . W w| o
/ GB/70-76 M12X30 INSIDE HEXGONAL BOIT L | Carbon steel ASTM AS574
YC-F909-xxx-11 SEAL GASKET 1 Rubber ASTM D2000 EPDM
4 GB/70-76 Mi2X25 INSIDE HEXGONAL BOIT 2 | Carbon steel ASTM AS74
& GB/T5783-2000 M12X20 | BOIT 1 Carbon steel ASTM AS74
- GB/T97.1-1985 M12 NUT WASHER 1 Carbon steel ASTM AS74
7 IN YC-F909-xxx-10 CAP 1| puctite iron ASTM A536 65-45-12
[ YCF909xx-09 | RNG WIPER 1| Rubber ASTM D2000 EPDM
! M hxk5° YC-F909-xxx-08 GLAND 1 | Dutile Iron ASTM A536 65-45-12
YC-F909-xxx-07 STEM-COLLAR 1 | Bronze ASTM B584 (83600
1T 1 GB1235-76 $32x35 0-RING 2 Rubber ASTM D2000 EPDM
GB1235-76 $49x45 0-RING 1 | Rubber ASTM D2000 EPDM
YC-F909-xxx-06 GASKET 2 | Lead brass ASTM B584 (85700
t 57U BS EN1092-2.PN16 GB1235-76 $26x35 0-RING 1| Rubber ASTM D2000 EPDM
L YC-F909-xxx-05 BONNET 1 | Ductile Iron ASTM A536 65-45-12
YC-F909-xxx-04 STEM 1 | Atbronze or SS | ASTM B150 C61400/A276 SS304
YC-F909-xxx-03 STEM NUT 1 | Bronze ASTM B584 (83600
YC-F909-xxx-02 WEDGE 1 Ductile Iron+Rubber [ASTM AS36 65-45-12+ASTM D2000 EPDM
YC-B111Q-xxx-01 BODY 1 | Ductile Iron ASTM A536 65-45-12
DEGNO. NAME aTY] MATERIALS REMARKS
4 # 55 Drawing No.
2 it 7 YC-B111Q-XXX-00
bovmnd A bling Drawing | T AT /Drawing Signs & & /MWeight
i Al T 1
7 £ Model 7i i Sheet/0f 11 il /sl w
A= ; M%Wf
L% IR/ &
w \_ \_ \_ D E WEIFANG <coﬂc>z
MACHINERY CO.,LTD




16

17
— — 18
19
15 T 20
14 ! 21
13
12 ]
i
10
\ @ —‘*
“-—“ 8 _
AN .-m ; _ nw
R ! '

Technical Specifications

1. Design standard: UL262, FM1120, AWWA (509;

2. Rated pressure: 250Psi ;

3. Rated tempreture: 0.6°c to 52°c;
4. Flange end conforms to BS EN1092-2.PN16;

5. Surface Painting:

Thickness: Greater than250Lm,

Less than5004em
Color: RAL3016

21 | 68/75783-2000 M12X40 | INSIDE HEXGONAL BOIT | L | Carbon steel ASTM AS74
20| YCF90Toon1l_| GLAND Ductie iron ASTM AS36 65-45-12
||||| 19 | GB/T71-1985 MeX15 | NUT BOIT Carbon steel ASTM F912M
78 [YC-F907-xxx-14__| STEMNUT Bronza ASTM B584 (83600
11 | YC-F907-xxx-12_| HANDWHEEL Ductile iran ASTM AS36 65-65-12
16 | YC-F907-xxx-13 NUT Carbon steel ASTM A194-2H
t 15 [YCPuIacty | YOKE Ductile Iran ASTM AS36 65-45-12
b 1, | GB6110-86 M2 [T Carbon steel | ASTM ASTh
13 | YC-F907-xxx-10 STUFFING GLAND 1 Ductile Iron ASTM A536 65-45-12
12 | YCF07-xx-08 | STUFFING BUSHING | 1 | Bronze ASTM B584 (83600
| 11 | GB/Ta97 Mizxss | THREADED RoD 2| Carbon steel ASTM A307
10 | YC-F907-xxx-07 STUFFING 4 | Rubber ASTM D2000 EPDM
9 | YC-F907-xxx-06 BONNET 1 Ductile Iron ASTM A536 65-45-12
8 | GB/T70.1 M12X30 INSIDE HEXGONAL BOT | 4| Carbon steel ASTM AS574
SIZE| DN | L | n-9d D E F b t 7 | NC-Fo0ou-05 | SEALGASKET | 1 | Rubbar ASTM D200 EPDM
- § | YCr0Toa0e | STEM 1| AlBronze or 55| ASTM BISO C61400/A276 55304
25" 65 [190 | 4-919 | 9185 | @145 | @118 | 19 | 3 (5 [cowasme smas_| oG 1| rubber ASTM D2000 EPDM
4 | GB/T119-2000 A3X38 | RETAINER 1 | Stainless Steel ASTM A276 SS304
3" | 80 |203| 8-¢19 | $200 | 9160 | 132 | 19 3 3 [YCPWToot3 | STEM TRM 1 | Bronze ASTM B84 (83600
2 | YC-F907-xxx-02 WEDGE 1 | Ductile Iron+Rubber |ASTM AS36 65-45-12+ASTM D2000 EPDM
4" 1100 | 229| 8-919 | 9220 | 180 | ®156 | 19 3 T [veravommor | 800V 1| Ductie iron ASTM AS36 65-65-12
B o | DEGNO. NAME QTV] MATERIALS REMARKS
6" | 150 [267| 8-923 | 9285 | 240 | 211 | 19 3 T T 7% Draving No.
8" |200]292| 12-9023 | 340 | ¢295 | #266 | 20 3 E |
" Drawing B /weight
107|250 | 330| 12-928 | 400 | #355 | ®319 | 22 3
#t# Model 7] /seale
12" 1300 | 356| 12-928 | 455 | @410 | 370 [245( 4 ]
ws_ws_ LA IR F]
WEIFANG YUCHUAN
MACHINERY CO.,LTD




	B111Q装配图 Model (1)
	B131装配图 Model (1)

